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QUESTION 1

A customer has a host experiencing performance problems with its FC LUNs. The customer has examined the nodes
hosting the LUNs, and both the disk and CPU performance are below 50% utilization. The 

customer examined the switch ports connected to the storage array, and they are also below 50% utilization. 

Which three should the customer verify? (Choose three.) 

A. that the HBA queue depth is set properly 

B. that the host HBA has the correct port settings 

C. that the host Ethernet interfaces are using jumbo frames 

D. that the host is running SnapDrive 

E. that the FC switch ports connected to the host have not exceeded the maximum capacity 

Correct Answer: CD 

 

QUESTION 2

An administrator wants to provide isolation among physical devices connected to the same FCP fabric. Which Cisco
switch feature accomplishes this task? 

A. VSAN 

B. FSIP 

C. LUN masking 

D. logical domains 

Correct Answer: A 

 

QUESTION 3

You want to prevent an FCoE frame from being split into two Ethernet frames. 

What is the minimum required frame size that will satisfy this requirement? 

A. 9216 

B. 2240 

C. 1512 

D. 9000 

Correct Answer: B 
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QUESTION 4

What is the default RAID level for new aggregates on a DS4486? 

A. RAID-DP 

B. RAID1 

C. RAID0 

D. RAID5 

Correct Answer: A 

 

QUESTION 5

You are asked to migrate a SAN LIF to a node that was recently added to your cluster. The following CLI command was
provided to you to complete the migration: 

network interface modify -vserver svm1 -lif lif1 home -node cl01-04 -homeport6a 

Which step is missing? 

A. All hosts connecting to the controller through lif1 must be shut down. 

B. The LIF must first be added to a portset. 

C. Your zoning must be updated on the upstream switch. 

D. The LIF must be put in a status-admin down state. 

Correct Answer: A 
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